50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

1SMATDIP31

e, 4 ,
\Q‘\ /(Hv\ /,:,r“

Time*3-hes:==

(05 Marks)

(cosB®—isin'@)*(cos 70+isin 79)'3 %ﬁ;@
(cos49£g-asm 40)° (cos8 +isin 0)° ¢
Find the value@’%?\. such that the vectors (14 »%j@) (-2, 3, -4) and (1, -3, A) are coplanar.

Simplify (05 Marks)

(06 Marks)
(05 Marks)
i) (@+b)- (@-b)
i) (@+b)x(@a-b).: (05 Marks)
Ifa=(1,-1,2), b=(,2,3) and ¢=(3,£ \c) and (3xb)x<c. Are they
equal? e (06 Marks)
Module:2 (5,
@%‘\ how that X“yn+ v"“ﬁ‘*-‘fin + 1)Xyx+1 + (x +1)y=0.
e %w (05 Marks)
(05 Marks)
(06 Marks)
Wnte the n ﬁvatwes of &
1) e ““& ii) log 3x +2)¢ iii) ™ cos3x. (05 Marks)
Fmd the pedal equatlogw% & a" cosn0. (05 Marks)
. a ;
Ifx=rcosb,y ‘Nr sin®, z = z then find 6(():3,, zz)) . (06 Marks)

1 o0f2
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1SMATDIP31
Module-3

Evaluate
n/2

i) J‘sin6 x dx
0
/2
ii) Isin“ xcos’ xdx .

0
4o
Evaluate 2'[ f xy dy dx .

(05 Marks)

o (05 Marks)

0 0 §‘u
1 z x+z A » W

Evaluate [ [ [ (x+y+2)dydxdz (Se (06 Marks)
-10 x-z ) . 4

4P
|

% A4 -
Evaluate _[ cos*30sin>60d0 . - *5%» (05 Marks)
. ;

e ;

2 3 N{ﬁ &
Evaluate j j xy dxdy . P (05 Marks)

c b ,
Evaluate @{f‘@ (x2 +y? +2*)dxdydz %‘“ (06 Marks)
. 4 V‘;ﬁg"—a . &
e & Module-4 P
A particle moves along a curve X = e”, y = 2cos tt,*‘z%%@* 2sin3t, whe;q»:%mg the time variable.
Determine the magnitudes-of velocity and acce}ledrh’ﬁdn tt=0. o~y (05 Marks)
&

ni‘%i@gw

If ¢ =log(x? +y> +2%);find the magnitude o]ﬁthg%grad dat (1, (05 Marks)
9 ]Q i@tﬁ ™

If R = xi+yi+zk f%d V'R and VxR,.* §
( ' ™

(06 Marks)

| R
Find a unit vector normal to the suffage’xy’z’ = 4 at (-1, -1, 2). (05 Marks)
Find the value of ‘a’ if the vector (ax’y +9z)i+ (xy? —xz*)j+(2xyz - 2x%yH)k s

solengi&aiiﬁ“‘*’" o &) F (05 Marks)
Showthat grad (X’ +y° ﬂﬁﬁfﬁtﬂ) is irrotational. (06 Marks)
p e Ve ‘

1 y \;‘;z v A L4 -
a. ‘Solve % =Y + §mngg (05 Marks)

d -
Solve A D O CMRIT LIBRARY (05 Bt}

Solve (2 + ¥ + 1) dx + 2xydy= 0. BANGALORE - 560 037 (06 Marks)
TN

@"[ﬁj j
Y OR
Solve (3x* + 6xy’)dx + (6x’y + 4y34)dy =0. (05 Marks)
Solve (xy” + y)dﬁ%? 2%y + x + y)dy=0. (05 Marks)

dy N i 2
Solve — = ytan X~ M
olvi dx yi::»\; s y secx (06 Marks)

. & EEEE
Wﬁé‘“ 20f2
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